BANK BRADESCO Form 6-K March 14, 2016

## UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

#### FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2016 Commission File Number 1-15250

#### BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

#### **BANK BRADESCO**

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F.  Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

#### **CONSOLIDATE FORM**

#### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

**Openning Balance** 

**Group and Family Dependants** 

Common Shares

Non-Voting Shares

		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	1,844,382,928 56,949,357 <b>Closing Balance</b>	73.0632 2.2559	36.5316 1.1279
	_	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total

1,844,382,928

56,949,357

73.0632

2.2559

36.5316

1.1279

#### **CONSOLIDATE FORM**

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Company. Banco Bra	auesco S.A.					/\ <b>T</b>	
Group and Family Dependants	(x)Board of Directors	() Board of Exec Officers	cutive	( ) Aud Commi		( ) Technica Adviso Agenci	ry
		Openning Bala	nce				
						% of partici	pation
Ту	pe of Securities/	Derivatives		Quant	ity	Same type of Shares	Total
	Common Sh	ares		15,1	79,982	0.6013	0.3006
	Non-Voting S	hares		24,2	54,704	0.9608	0.4804
	_	Month Movem	ent				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in	R\$
Non-Voting Shares	Е	Buy	5-Feb	1,877	19.43	R\$ 36.	470.11
Non-Voting Shares		Buy	5-Feb	958	19.44		623.52
Non-Voting Shares		Buy	5-Feb	301	19.45		854.45
Non-Voting Shares	Е	Buy	5-Feb	212	19.46	R\$ 4,	125.52
Non-Voting Shares	E	Buy	5-Feb	387	19.47	R\$ 7,	534.89
Non-Voting Shares	E	Buy	5-Feb	1,676	19.48	R\$ 32,	648.48
Non-Voting Shares	E	Buy	5-Feb	821	19.49	R\$ 16,	001.29
Non-Voting Shares	E	Buy	5-Feb	206	19.50	R\$ 4,	017.00
Non-Voting Shares	E	Buy	5-Feb	137	19.51	R\$ 2,	672.87
Non-Voting Shares	E	Buy	5-Feb	851	19.52	R\$ 16,	611.52
Non-Voting Shares	E	Buy	5-Feb	641	19.53	R\$ 12,	518.73
Non-Voting Shares	E	Buy	5-Feb	1,255	19.54	R\$ 24,	522.70
Non-Voting Shares	E	Buy	5-Feb	882	19.55	R\$ 17,	243.10
Non-Voting Shares	E	Buy	5-Feb	650	19.56	R\$ 12,	714.00
Non-Voting Shares	E	Buy	5-Feb	476	19.57	R\$ 9,	315.32
Non-Voting Shares	E	Buy	5-Feb	479	19.58	R\$ 9,	378.82
Non-Voting Shares	E	Buy	5-Feb	630	19.59	R\$ 12,	341.70
Non-Voting Shares	E	Buy	5-Feb	44	19.60	R\$	862.40
Non-Voting Shares	E	Buy	5-Feb	413	19.61	R\$ 8,	098.93
Non-Voting Shares	E	Buy	5-Feb	285	19.62	R\$ 5,	591.70
Non-Voting Shares	E	Buy	5-Feb	128	19.63	R\$ 2,	512.64

	_				
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	129	19.68	R\$ 2,538.72
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	470	19.74	R\$ 9,277.80
Non-Voting Shares		5-Feb	201	19.75	R\$ 3,969.75
•	Buy				
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	265	19.85	R\$ 5,260.25
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	1,150	19.89	R\$ 22,873.50
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb	377	19.94	R\$ 7,517.38
Non-Voting Shares	Buy	5-Feb	861	19.95	R\$ 17,176.95
Non-Voting Shares	_	5-Feb	35	19.96	R\$ 698.60
•	Buy				
Non-Voting Shares	Buy	5-Feb	2,233		R\$ 44,593.01
Non-Voting Shares	Buy	5-Feb	3,012		R\$ 60,179.76
Non-Voting Shares	Buy	5-Feb		19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	1,256		R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	481	19.58	R\$ 9,417.98
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
	= - ,	- · • •	. –	- ·	

					_
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
•	•				
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,303	19.92	R\$ 25,955.76
Non-Voting Shares	Buy	5-Feb	341	19.93	R\$ 6,796.13
Non-Voting Shares	Buy	5-Feb	362	19.94	R\$ 7,218.28
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	479	19.49	R\$ 9,335.71
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
•	•		415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb			
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	342	19.92	R\$ 6,816.06
Non-Voting Shares	Buy	5-Feb	361	19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
•	-	5-Feb	946	19.43	R\$ 18,380.78
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	959	19.44	R\$ 18,642.96
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	388	19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,674		R\$ 32,609.52
Non-Voting Shares	Buy	5-Feb		19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	•	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,753.12
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,731.35
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94

Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	•	5-Feb	1	19.81	R\$ 19.81
_	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	229	19.83 19.84	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260		R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	343	19.93	R\$ 6,835.99
Non-Voting Shares	Buy	5-Feb	379	19.94	R\$ 7,557.26
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	37	19.96	R\$ 738.52
Non-Voting Shares	Buy	5-Feb	2,231	19.97	R\$ 44,553.07
Non-Voting Shares	Buy	5-Feb	1,958	19.98	R\$ 39,120.84
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	388	19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,675	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	820	19.49	R\$ 15,981.80
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,255	19.54	R\$ 24,522.70
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,532.84
Sang Sharoo	20,	0.00	_5_	. 3.3_	

Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,155	19.89	R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,300	19.92	R\$ 25,896.00
Non-Voting Shares	Buy	5-Feb	347	19.93	R\$ 6,915.71
Non-Voting Shares	-	5-Feb	376	19.94	R\$ 7,497.44
Non-Voting Shares	Buy Buy	5-Feb	859	19.95	R\$ 17,137.05
_	-	5-Feb		19.96	R\$ 738.52
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	2,093		R\$ 41,797.21
Non-Voting Shares	Buy	5-Feb	16	19.98	R\$ 319.68
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	387	19.47	R\$ 7,534.89
Non-Voting Shares	Buy	5-Feb	1,676	19.48	R\$ 32,648.48
Non-Voting Shares	Buy	5-Feb	820	19.49	R\$ 15,981.80
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82

Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	•	5-Feb	53	19.82	R\$ 1,050.46
•	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	
Non-Voting Shares	Buy				R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302		R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb		19.93	R\$ 6,895.78
Non-Voting Shares	Buy	5-Feb		19.94	R\$ 7,457.56
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	38	19.96	R\$ 758.48
Non-Voting Shares	Buy	5-Feb	2,091	19.97	R\$ 41,757.27
Non-Voting Shares	Buy	5-Feb	18	19.98	R\$ 359.64
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	299	19.45	R\$ 5,815.55
Non-Voting Shares	Buy	5-Feb	213	19.46	R\$ 4,144.98
Non-Voting Shares	Buy	5-Feb		19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb		19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb	205	19.50	R\$ 3,997.50
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24

Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares		5-Feb	141	19.65	R\$ 2,770.65
<u> </u>	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,155		R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,299	19.92	R\$ 25,876.08
Non-Voting Shares	Buy	5-Feb	346	19.93	R\$ 6,895.78
Non-Voting Shares	Buy	5-Feb	376	19.94	R\$ 7,497.44
Non-Voting Shares	-	5-Feb	859	19.95	R\$ 17,137.05
<u> </u>	Buy	5-Feb	39	19.96	R\$ 778.44
Non-Voting Shares	Buy	5-Feb			
Non-Voting Shares	Buy		2,094	19.97	R\$ 41,817.18
Non-Voting Shares	Buy	5-Feb		19.98	R\$ 299.70
Non-Voting Shares	Buy	5-Feb		19.44	R\$ 816.48
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	213	19.46	R\$ 4,144.98
Non-Voting Shares	Buy	5-Feb	387	19.47	R\$ 7,534.89
Non-Voting Shares	Buy	5-Feb	•	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb	205	19.50	R\$ 3,997.50

Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	-	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.79	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy		53		
Non-Voting Shares	Buy	5-Feb 5-Feb		19.82 19.83	R\$ 1,050.46 R\$ 4,541.07
•	Buy				
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	•		R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb	378	19.94	R\$ 7,537.32
Non-Voting Shares	Buy	5-Feb	857	19.95	R\$ 17,097.15
Non-Voting Shares	Buy	5-Feb	39	19.96	R\$ 778.44
Non-Voting Shares	Buy	5-Feb	2,095	19.97	R\$ 41,837.15
Non-Voting Shares	Buy	5-Feb	15	19.98	R\$ 299.70
Non-Voting Shares	Total		204,607		R\$ 4,035,260.97
Non-Voting Shares	Transfer Causa-Mortis	1-Feb	1,183		R\$ -
Non-Voting Shares Banco		1-Feb	1,183		R\$ -
Bradesco	S.A.				

Non-Voting Shares	Transfer Causa-Mortis	1-Feb	1,183	R\$ -
Non-Voting Shares	Total		3,549	R\$ -
	Closing Balance	•		
				% of participation
Type of Securities/Derivatives			Quantity	Same type of Shares
C	Common Shares		15,179,982	0.6013 0.3006
No	on-Voting Shares		24,455,762	0.9687 0.4843

Company: Bradesc					
Group and Family Dependants	(x)Board of () Board of Executive Directors Officers		() Audit Committee	( ) Technical and Advisory Agencies	
		Openning Balance			_
				%	of participation
Т	Type of Securities/	Derivatives	Quantity		me type Shares
Common Shares				0	0.0000 0.0000
	Non-Voting S	hares		0	0.0000 0.0000
		Closing Balance			
				%	of participation
Т	Type of Securities/	Derivatives	Quantity		me type Shares Total
	Common Sh	ares		0	0.0000 0.0000
	Non-Voting S	hares		0	0.0000 0.0000

# CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brad	desco S.A.					
Group and Family Dependants	( )Board of Directors	(X) Board of E Office		( ) Aud Commit		() Technical and Advisory Agencies
		Openning B	alance			
						% of participation
Type of Securities/Derivatives				Quant	ity	Same type of Shares
	Common Shar	es		1	38,825	0.0054 0.0027
	Non-Voting Sha	ıres			97,496	
	_	<b>Month Mov</b>	ement			
Type of	Broker					
Securities/Derivatives		Operation	Day	Quantity	Price	Value in R\$
Common Shares		Buy	26-Feb	1	22.41	R\$ 22.41
<b>Common Shares</b>		Total		1		R\$ 22.41
Non-Voting Shares		Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares		Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares		Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares		Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares		Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares		Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares		Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares		Buy	5-Feb	650	19.56	
Non-Voting Shares		Buy	5-Feb	475	19.57	' '
Non-Voting Shares		Buy	5-Feb	479	19.58	
Non-Voting Shares		Buy	5-Feb	631	19.59	• •
Non-Voting Shares		Buy	5-Feb	45	19.60	•
Non-Voting Shares		Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares		Buy	5-Feb	284	19.62	' '
Non-Voting Shares		Buy	5-Feb	129	19.63	
Non-Voting Shares		Buy	5-Feb	71	19.64	' '
Non-Voting Shares		Buy	5-Feb	141	19.65	
Non-Voting Shares		Buy	5-Feb	709	19.66	
Non-Voting Shares		Buy	5-Feb	331	19.67	R\$ 6,510.77

	_				54 0 550 40
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	_	5-Feb	1,152	19.89	R\$ 22,913.28
_	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,304	19.92	R\$ 25,975.68
Non-Voting Shares	Buy	5-Feb	340	19.93	R\$ 6,776.20
Non-Voting Shares	Buy	5-Feb	361	19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	480	19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,561.78
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
14011 Voling Onales	Бау	J-1 <del>G</del> D	200	10.71	1 ιψ +,555.50

Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,301	19.92	R\$ 25,915.92
Non-Voting Shares	Buy	5-Feb	345	19.93	R\$ 6,875.85
Non-Voting Shares	Buy	5-Feb	360	19.94	R\$ 7,178.40
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	411	19.61	R\$ 8,059.71
Non-Voting Shares	Buy	5-Feb	290	19.62	R\$ 5,689.80
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
. 1011 Totaling Orlaines	Day	3 1 60	100	. 5.7 5	1 (φ 0,000.20

Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,3027	19.92	R\$ 25,935.84
•	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	•				
Non-Voting Shares	Buy	5-Feb	360	19.94	R\$ 7,178.40
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	479	19.49	R\$ 9,335.71
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	•	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
	Bay	0100	00	. 5.7 5	1.ψ 1,000.20

	5		000	40.00	D# 7.704.00
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,303	19.92	R\$ 25,955.76
Non-Voting Shares	Buy	5-Feb	341	19.93	R\$ 6,796.13
Non-Voting Shares	Buy	5-Feb	362	19.94	R\$ 7,218.28
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	•	5-Feb	475	19.57	R\$ 9,295.75
_	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	
Non-Voting Shares	Buy	5-Feb	44	19.59	R\$ 12,361.29
Non-Voting Shares	Buy				R\$ 862.40
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
-	•				

Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,304	19.92	R\$ 25,975.68
Non-Voting Shares	Buy	5-Feb	343	19.93	R\$ 6,835.99
Non-Voting Shares	Buy	5-Feb	359	19.94	R\$ 7,158.46
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	73	19.64	R\$ 1,433.72
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,208.65
Tion voing onales	Биу	J-1 <del>G</del> D	1,013	10.01	ι ιψ 20,200.03

Non-Voting Shares	Buy	5-Feb		19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	•	5-Feb	709	19.66	R\$ 13,938.94
•	Buy				
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,155		R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	•	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,268.38
Non-Voting Shares	-	5-Feb	•	19.49	
<u> </u>	Buy				R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80

Non-Voting Shares		_				
Non-Voting Shares Buy S-Feb 72 19.64 R\$ 1,41.08 Non-Voting Shares Buy S-Feb 72 19.64 R\$ 1,41.08 R\$ 2,731.35 Non-Voting Shares Buy S-Feb 73 19.65 R\$ 1,3978.26 Non-Voting Shares Buy S-Feb 330 19.67 R\$ 13,978.26 Non-Voting Shares Buy S-Feb 330 19.67 R\$ 4,91.10 Non-Voting Shares Buy S-Feb 330 19.68 R\$ 2,558.40 Non-Voting Shares Buy S-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy S-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy S-Feb 320 19.71 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 343 19.72 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 343 19.72 R\$ 6,63.96 Non-Voting Shares Buy S-Feb 343 19.72 R\$ 6,6017.65 Non-Voting Shares Buy S-Feb 340 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 340 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 340 19.74 R\$ 9,337.02 Non-Voting Shares Buy S-Feb 340 19.76 R\$ 5,157.50 Non-Voting Shares Buy S-Feb 340 19.76 R\$ 5,153.30 Non-Voting Shares Buy S-Feb 340 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 340 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 340 19.79 R\$ 1,583.00 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 7,616.60 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 7,616.60 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 7,616.60 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 1,630.40 R\$ 1,630.40 R\$ 1,630.40 R\$ 1,930 R\$ 1,630.00 R\$ 1,930 R\$ 1,630.00 R\$ 1,930 R\$ 1,630.00 R\$ 1,930 R\$ 1,930.00 R\$ 1,	Non-Voting Shares	Buy	5-Feb			R\$ 8,177.37
Non-Voting Shares Non-Voting Shares Non-Voting Shares Buy S-Feb 139 19.65 R\$ 2,731.35 Non-Voting Shares Buy S-Feb 130 19.67 R\$ 6,491.10 Non-Voting Shares Buy S-Feb 130 19.67 R\$ 6,491.10 Non-Voting Shares Buy S-Feb 130 19.68 R\$ 2,731.35 R\$ 13,978.26 Non-Voting Shares Buy S-Feb 130 19.68 R\$ 6,558.40 Non-Voting Shares Buy S-Feb 130 19.68 R\$ 6,6714.29 Non-Voting Shares Buy S-Feb 22 19.70 R\$ 433.40 Non-Voting Shares Buy S-Feb 230 19.71 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,930.25 Non-Voting Shares Buy S-Feb 305 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 305 19.78 R\$ 1,832.80 Non-Voting Shares Buy S-Feb 305 19.78 R\$ 1,832.80 Non-Voting Shares Buy S-Feb 305 19.88 R\$ 1,80.81 Non-Voting Shares Buy S-Feb 307 19.80 R\$ 1,832.80 Non-Voting Shares Buy S-Feb 308 19.79 R\$ 1,583.20 Non-Voting Shares Buy S-Feb 309 19.80 R\$ 1,80.81 Non-Voting Shares Buy S-Feb 309 19.80 R\$ 1,80.80 R\$ 1,40.80 R\$ 1,	•	•				
Non-Voting Shares	<del>-</del>	Buy				
Non-Voting Shares   Buy   5-Feb   711   19.66   R\$ 13.978.26   Non-Voting Shares   Buy   5-Feb   130   19.68   R\$ 2,558.40   Non-Voting Shares   Buy   5-Feb   341   19.69   R\$ 6,714.29   Non-Voting Shares   Buy   5-Feb   230   19.71   R\$ 4,533.30   Non-Voting Shares   Buy   5-Feb   230   19.71   R\$ 4,533.30   Non-Voting Shares   Buy   5-Feb   230   19.71   R\$ 6,763.96   Non-Voting Shares   Buy   5-Feb   343   19.72   R\$ 6,763.96   Non-Voting Shares   Buy   5-Feb   343   19.72   R\$ 6,017.65   Non-Voting Shares   Buy   5-Feb   343   19.72   R\$ 6,017.65   Non-Voting Shares   Buy   5-Feb   361   19.74   R\$ 9,337.02   Non-Voting Shares   Buy   5-Feb   261   19.76   R\$ 5,157.36   Non-Voting Shares   Buy   5-Feb   261   19.76   R\$ 5,157.36   Non-Voting Shares   Buy   5-Feb   261   19.76   R\$ 5,157.36   Non-Voting Shares   Buy   5-Feb   361   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   5-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   5-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   5-Feb   53   19.82   R\$ 1,050.46   Non-Voting Shares   Buy   5-Feb   53   19.82   R\$ 1,050.46   Non-Voting Shares   Buy   5-Feb   53   19.82   R\$ 1,050.46   Non-Voting Shares   Buy   5-Feb   260   19.84   R\$ 5,158.40   Non-Voting Shares   Buy   5-Feb   260   19.84   R\$ 5,158.40   Non-Voting Shares   Buy   5-Feb   361   19.94   R\$ 5,830.70		Buy				
Non-Voting Shares Buy S-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy S-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy S-Feb 341 19.69 R\$ 433.40 Non-Voting Shares Buy S-Feb 343 Non-Voting Shares Buy S-Feb 344 19.72 R\$ 6,763.30 Non-Voting Shares Buy S-Feb 305 Non-Voting Shares Buy S-Feb 307 Non-Voting Shares Buy S-Feb 308 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,330.25 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,330.25 Non-Voting Shares Buy S-Feb 199 19.76 R\$ 5,157.36 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,815.83.20 Non-Voting Shares Buy S-Feb 393 19.81 R\$ 1,981 Non-Voting Shares Buy S-Feb 393 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 398 R\$ 1,853.58 Non-Voting Shares Buy S-Feb 399 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 399 19.80 R\$ 5,280.10 Non-Voting Shares Buy S-Feb 309 19.80 R\$ 1,663.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.83 R\$ 1,4611.80 Non-Voting Shares Buy S-Feb 309 R\$ 2,2893.39 Non-Voting Shares Buy S-Feb 309 R\$ 2,280.70 R\$ 2,280.70 R\$ 2,260.70 R\$ 2,260.70 R\$ 2,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,26	Non-Voting Shares	Buy	5-Feb	139	19.65	R\$ 2,731.35
Non-Voting Shares   Buy   5-Feb   130   19.68   R\$ 6,714.29	Non-Voting Shares	Buy	5-Feb	711	19.66	R\$ 13,978.26
Non-Voting Shares   Buy   S-Feb   341   19.69   R\$ 6,714.29   Non-Voting Shares   Buy   S-Feb   22   19.70   R\$ 433.40   Non-Voting Shares   Buy   S-Feb   303   19.71   R\$ 4,533.30   Non-Voting Shares   Buy   S-Feb   303   19.72   R\$ 6,763.96   Non-Voting Shares   Buy   S-Feb   305   19.73   R\$ 6,017.65   Non-Voting Shares   Buy   S-Feb   473   19.74   R\$ 9,337.02   Non-Voting Shares   Buy   S-Feb   199   19.75   R\$ 3,930.25   Non-Voting Shares   Buy   S-Feb   199   19.75   R\$ 5,157.36   Non-Voting Shares   Buy   S-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   S-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   S-Feb   395   19.78   R\$ 7,813.10   Non-Voting Shares   Buy   S-Feb   395   19.78   R\$ 7,813.10   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   392   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   S-Feb   229   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   S-Feb   229   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   S-Feb   266   19.85   R\$ 5,158.40   Non-Voting Shares   Buy   S-Feb   266   19.85   R\$ 5,158.40   Non-Voting Shares   Buy   S-Feb   373   19.86   R\$ 1,636.82   Non-Voting Shares   Buy   S-Feb   373   19.86   R\$ 1,636.82   Non-Voting Shares   Buy   S-Feb   393   19.98   R\$ 1,636.82   Non-Voting Shares   Buy   S-Feb   393   19.99   R\$ 5,158.30   Non-Voting Shares   Buy   S-Feb   393   19.99   R\$ 1,638.30   Non-Voting Shares   Buy   S-Feb   393   19.99   R\$ 1,639.30   Non-Voting Shares   Buy   S-Feb   393   19.99   R\$ 1,639.30   Non-Voting Shares   Buy   S-Feb   393   19.99   R\$ 1,639.30   Non-Voting Shares   Buy   S-Feb   393   19.99   R\$ 5,830.30   Non-Voting Shares   Buy   S-Feb   361   19.94   R\$ 2,0467.48   Non-Voting Shares   Buy   S-Feb   361   19.95   R\$ 5,830.30   Non-Voting Shares   Buy   S-Feb   361   19.95   R\$ 5,830.30   Non-Voting Shares   Buy   S-Feb   361   19.95   R\$ 1,19.80   R	Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares   Buy   5-Feb   22   19.70   R\$ 433.40	Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares   Buy   5-Feb   230   19.71   R\$ 4,533.30   Non-Voting Shares   Buy   5-Feb   305   19.73   R\$ 6,0763.96   Non-Voting Shares   Buy   5-Feb   305   19.73   R\$ 6,017.65   Non-Voting Shares   Buy   5-Feb   473   19.74   R\$ 9,337.02   Non-Voting Shares   Buy   5-Feb   199   19.75   R\$ 3,390.25   Non-Voting Shares   Buy   5-Feb   261   19.76   R\$ 5,157.36   Non-Voting Shares   Buy   5-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   5-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   5-Feb   395   19.78   R\$ 7,813.10   Non-Voting Shares   Buy   5-Feb   392   19.80   R\$ 7,781.30   Non-Voting Shares   Buy   5-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   5-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   5-Feb   53   19.82   R\$ 1,050.46   Non-Voting Shares   Buy   5-Feb   229   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   5-Feb   229   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   5-Feb   266   19.85   R\$ 5,280.10   Non-Voting Shares   Buy   5-Feb   266   19.85   R\$ 5,280.10   Non-Voting Shares   Buy   5-Feb   266   19.85   R\$ 5,280.10   Non-Voting Shares   Buy   5-Feb   737   19.86   R\$ 14,638.82   Non-Voting Shares   Buy   5-Feb   735   19.88   R\$ 14,638.82   Non-Voting Shares   Buy   5-Feb   735   19.88   R\$ 14,638.82   Non-Voting Shares   Buy   5-Feb   735   19.88   R\$ 14,638.82   Non-Voting Shares   Buy   5-Feb   361   19.91   R\$ 20,467.48   Non-Voting Shares   Buy   5-Feb   361   19.91   R\$ 20,467.48   Non-Voting Shares   Buy   5-Feb   361   19.91   R\$ 20,467.48   Non-Voting Shares   Buy   5-Feb   361   19.92   R\$ 5,2893.39   Non-Voting Shares   Buy   5-Feb   361   19.94   R\$ 7,198.34   Non-Voting Shares   Buy   5-Feb   361   19.95   R\$ 5,280.70   Non-Voting Shares   Buy   5-Feb   361   19.56   R\$ 1,23.35   Non-Voting Shares   Buy   5-Feb   474   19.57   R\$ 9,	Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares Buy 5-Feb 305 19.73 R\$,6,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$,6,017.65 R\$,337.02 Non-Voting Shares Buy 5-Feb 199 19.75 R\$,3,330.25 Non-Voting Shares Buy 5-Feb 199 19.76 R\$,3,330.25 Non-Voting Shares Buy 5-Feb 316 19.77 R\$,6,247.32 Non-Voting Shares Buy 5-Feb 305 19.78 R\$,7,61.30 Non-Voting Shares Buy 5-Feb 305 19.78 R\$,7,61.30 Non-Voting Shares Buy 5-Feb 309 19.78 R\$,7,61.30 Non-Voting Shares Buy 5-Feb 309 19.79 R\$,1,583.20 Non-Voting Shares Buy 5-Feb 19.80 R\$,7,61.60 Non-Voting Shares Buy 5-Feb 19.80 R\$,1,630.40 Non-Voting Shares Buy 5-Feb 19.80 R\$,1,630.40 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.40 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 206 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 206 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 207 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 208 R\$,5,280.10 Non-Voting Shares Buy 5-Feb 209 R\$,5,280.10 Non-Voting Shares Buy 5-Feb 209 R\$,5,280.10 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.70 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 301 R\$,2,930.39 Non-Voting Shares Buy 5-Feb 301 R\$,2,947.48 R\$,2,947	Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares   Buy   S-Feb   305   19.73   R\$ 6,017.65   Non-Voting Shares   Buy   S-Feb   473   19.74   R\$ 9,3370.25   Non-Voting Shares   Buy   S-Feb   261   19.76   R\$ 3,930.25   Non-Voting Shares   Buy   S-Feb   261   19.76   R\$ 5,157.36   Non-Voting Shares   Buy   S-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   S-Feb   395   19.78   R\$ 7,7813.10   Non-Voting Shares   Buy   S-Feb   395   19.78   R\$ 7,7813.10   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   53   19.82   R\$ 1,050.46   Non-Voting Shares   Buy   S-Feb   53   19.82   R\$ 1,050.46   Non-Voting Shares   Buy   S-Feb   229   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   S-Feb   260   19.84   R\$ 5,158.40   Non-Voting Shares   Buy   S-Feb   266   19.85   R\$ 5,280.10   Non-Voting Shares   Buy   S-Feb   266   19.85   R\$ 5,280.10   Non-Voting Shares   Buy   S-Feb   266   19.85   R\$ 5,280.10   Non-Voting Shares   Buy   S-Feb   266   19.85   R\$ 14.636.82   Non-Voting Shares   Buy   S-Feb   305   19.87   R\$ 14.636.82   Non-Voting Shares   Buy   S-Feb   737   19.86   R\$ 14.636.82   Non-Voting Shares   Buy   S-Feb   735   19.88   R\$ 14.611.80   Non-Voting Shares   Buy   S-Feb   293   19.90   R\$ 5,2893.39   Non-Voting Shares   Buy   S-Feb   305   19.87   R\$ 15,995.35   Non-Voting Shares   Buy   S-Feb   301   19.92   R\$ 22,893.39   Non-Voting Shares   Buy   S-Feb   301   19.92   R\$ 23,915.92   Non-Voting Shares   Buy   S-Feb   301   19.92   R\$ 25,915.92   Non-Voting Shares   Buy   S-Feb   301   19.92   R\$ 25,915.92   Non-Voting Shares   Buy   S-Feb   301   19.94   R\$ 7,198.34   Non-Voting Shares   Buy   S-Feb   301   19.95   R\$ 5,836   Non-Voting Shares   Buy   S-Feb   301   19.95   R\$ 7,198.34   Non-Voting Shares   Buy   S-Feb   301   19.95   R\$ 7,198.34   Non-Voting Shares   Buy   S-Feb   301   19.95   R\$ 7,198.34   Non-Voting Shares   Buy   S-Feb   301   19.55   R\$ 1,7,184.45   Non-Voting Shares   Buy   S-Feb   474   19.57   R\$	Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares   Buy   S-Feb   473   19.74   R\$ 9,337.02   Non-Voting Shares   Buy   S-Feb   199   19.75   R\$ 3,930.25   Non-Voting Shares   Buy   S-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   S-Feb   316   19.77   R\$ 6,247.32   Non-Voting Shares   Buy   S-Feb   315   19.78   R\$ 7,813.10   Non-Voting Shares   Buy   S-Feb   395   19.78   R\$ 7,813.10   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   392   19.80   R\$ 7,761.60   Non-Voting Shares   Buy   S-Feb   19.81   R\$ 19.81   R\$ 19.81   Non-Voting Shares   Buy   S-Feb   53   19.22   R\$ 1,050.46   Non-Voting Shares   Buy   S-Feb   53   19.22   R\$ 1,050.46   Non-Voting Shares   Buy   S-Feb   229   19.83   R\$ 4,541.07   Non-Voting Shares   Buy   S-Feb   260   19.84   R\$ 5,158.40   Non-Voting Shares   Buy   S-Feb   737   19.86   R\$ 14,636.82   Non-Voting Shares   Buy   S-Feb   737   19.86   R\$ 14,636.82   Non-Voting Shares   Buy   S-Feb   737   19.86   R\$ 14,636.82   Non-Voting Shares   Buy   S-Feb   1,151   19.89   R\$ 22,893.39   Non-Voting Shares   Buy   S-Feb   1,151   19.89   R\$ 22,893.39   Non-Voting Shares   Buy   S-Feb   1,102   19.91   R\$ 20,467.48   Non-Voting Shares   Buy   S-Feb   344   19.93   R\$ 6,855.92   Non-Voting Shares   Buy   S-Feb   341   19.92   R\$ 25,915.92   Non-Voting Shares   Buy   S-Feb   361   19.94   R\$ 7,189.34   Non-Voting Shares   Buy   S-Feb   361   19.47   R\$ 6,242.24   Non-Voting Shares   Buy   S-Feb   474   19.57   R\$ 9,276.18   Non-Voting Shares   Buy   S-Feb   474   19.57	Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares   Buy   S-Feb   473   19.74   R\$ 9,337.02	<del>-</del>	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares         Buy         5-Feb         199         19.75         R\$ 3,390.25           Non-Voting Shares         Buy         5-Feb         261         19.76         R\$ 5,157.36           Non-Voting Shares         Buy         5-Feb         316         19.77         R\$ 6,247.32           Non-Voting Shares         Buy         5-Feb         395         19.78         R\$ 7,813.10           Non-Voting Shares         Buy         5-Feb         302         19.80         R\$ 7,761.60           Non-Voting Shares         Buy         5-Feb         392         19.80         R\$ 7,761.60           Non-Voting Shares         Buy         5-Feb         392         19.83         R\$ 1,050.46           Non-Voting Shares         Buy         5-Feb         53         19.82         R\$ 1,050.46           Non-Voting Shares         Buy         5-Feb         229         19.83         R\$ 4,541.07           Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         805         19.87         R\$ 15,995.35	<del>-</del>	-	5-Feb	473	19.74	
Non-Voting Shares		-				
Non-Voting Shares   Buy   5-Feb   316   19.77   R\$ 6,247.32	G					
Non-Voting Shares   Buy   5-Feb   395   19.78   R\$ 7,813.10	•	-				
Non-Voting Shares         Buy         5-Feb         80         19.79         R\$ 1,583.20           Non-Voting Shares         Buy         5-Feb         392         19.80         R\$ 7,761.60           Non-Voting Shares         Buy         5-Feb         53         19.82         R\$ 19.81           Non-Voting Shares         Buy         5-Feb         53         19.82         R\$ 1,050.46           Non-Voting Shares         Buy         5-Feb         229         19.83         R\$ 4,541.07           Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         30         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         1,51         19.89         R\$ 22,893.39	<del>-</del>	•				· · ·
Non-Voting Shares         Buy         5-Feb         392         19.80         R\$ 7,761.60           Non-Voting Shares         Buy         5-Feb         1         19.81         R\$ 19.81           Non-Voting Shares         Buy         5-Feb         31         19.82         R\$ 1,050.46           Non-Voting Shares         Buy         5-Feb         229         19.83         R\$ 4,541.07           Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         377         19.86         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,631.80           Non-Voting Shares         Buy         5-Feb         1,151         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 22,893.39						
Non-Voting Shares         Buy         5-Feb         1         19.81         R\$ 19.81           Non-Voting Shares         Buy         5-Feb         53         19.82         R\$ 1,050.46           Non-Voting Shares         Buy         5-Feb         229         19.83         R\$ 4,541.07           Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         805         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         301         19.92         R\$ 20,915.92		•				
Non-Voting Shares         Buy         5-Feb         53         19.82         R\$ 1,050.46           Non-Voting Shares         Buy         5-Feb         229         19.83         R\$ 4,541.07           Non-Voting Shares         Buy         5-Feb         260         19.85         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         1,511         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,201         19.92         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         1,201         19.92         R\$ 2,5		-				
Non-Voting Shares         Buy         5-Feb         229         19.83         R\$ 4,541.07           Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         361         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.93         R\$ 7,198.	•	•				
Non-Voting Shares         Buy         5-Feb         260         19.84         R\$ 5,158.40           Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         805         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         735         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         1,028         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 22,467.48           Non-Voting Shares         Buy         5-Feb         361         19.91         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         361         19.93         R\$ 6,8		•				
Non-Voting Shares         Buy         5-Feb         266         19.85         R\$ 5,280.10           Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         805         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         1,151         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,021         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24	<del>-</del>	-				
Non-Voting Shares         Buy         5-Feb         737         19.86         R\$ 14,636.82           Non-Voting Shares         Buy         5-Feb         805         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         1,151         19.99         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         344         19.91         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 2,1	<del>-</del>	-				
Non-Voting Shares         Buy         5-Feb         805         19.87         R\$ 15,995.35           Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         1,151         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,18	•					
Non-Voting Shares         Buy         5-Feb         735         19.88         R\$ 14,611.80           Non-Voting Shares         Buy         5-Feb         1,151         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         479         19.55         R\$ 12,735	•	-				
Non-Voting Shares         Buy         5-Feb         1,151         19.89         R\$ 22,893.39           Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         364         19.93         R\$ 5,859.22           Non-Voting Shares         Buy         5-Feb         364         19.93         R\$ 5,859.22           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         479         19.55         R\$ 17,184.	<del>-</del>	•				
Non-Voting Shares         Buy         5-Feb         293         19.90         R\$ 5,830.70           Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         361         19.95         R\$ 59.85           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         369         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         479         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18 <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td>		-				
Non-Voting Shares         Buy         5-Feb         1,028         19.91         R\$ 20,467.48           Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         3 19.95         R\$ 59.85           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         379         19.55         R\$ 17,108.92           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24      <						
Non-Voting Shares         Buy         5-Feb         1,301         19.92         R\$ 25,915.92           Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         3         19.95         R\$ 59.85           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80	•					• •
Non-Voting Shares         Buy         5-Feb         344         19.93         R\$ 6,855.92           Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         3 19.95         R\$ 59.85           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         478         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80	•					• •
Non-Voting Shares         Buy         5-Feb         361         19.94         R\$ 7,198.34           Non-Voting Shares         Buy         5-Feb         3         19.95         R\$ 59.85           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         128         19.62         R\$ 5,572.08	<del>-</del>					
Non-Voting Shares         Buy         5-Feb         3         19.95         R\$ 59.85           Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.59         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 8,42.80           Non-Voting Shares         Buy         5-Feb         284         19.61         R\$ 5,572.08	•					
Non-Voting Shares         Buy         5-Feb         364         19.53         R\$ 7,108.92           Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08						
Non-Voting Shares         Buy         5-Feb         1,256         19.54         R\$ 24,542.24           Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94	•	-				
Non-Voting Shares         Buy         5-Feb         879         19.55         R\$ 17,184.45           Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         70         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         70         19.66         R\$ 13,938.94	G	-				
Non-Voting Shares         Buy         5-Feb         651         19.56         R\$ 12,733.56           Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         70         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         70         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	<del>-</del>	•				
Non-Voting Shares         Buy         5-Feb         474         19.57         R\$ 9,276.18           Non-Voting Shares         Buy         5-Feb         478         19.58         R\$ 9,359.24           Non-Voting Shares         Buy         5-Feb         632         19.59         R\$ 12,380.88           Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77		-				
Non-Voting SharesBuy5-Feb47819.58R\$ 9,359.24Non-Voting SharesBuy5-Feb63219.59R\$ 12,380.88Non-Voting SharesBuy5-Feb4319.60R\$ 842.80Non-Voting SharesBuy5-Feb41619.61R\$ 8,157.76Non-Voting SharesBuy5-Feb28419.62R\$ 5,572.08Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77	G					
Non-Voting SharesBuy5-Feb63219.59R\$ 12,380.88Non-Voting SharesBuy5-Feb4319.60R\$ 842.80Non-Voting SharesBuy5-Feb41619.61R\$ 8,157.76Non-Voting SharesBuy5-Feb28419.62R\$ 5,572.08Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77	•	-				
Non-Voting Shares         Buy         5-Feb         43         19.60         R\$ 842.80           Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	G	-				
Non-Voting Shares         Buy         5-Feb         416         19.61         R\$ 8,157.76           Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	<del>-</del>	•				
Non-Voting Shares         Buy         5-Feb         284         19.62         R\$ 5,572.08           Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	<del>-</del>	Buy				
Non-Voting Shares         Buy         5-Feb         128         19.63         R\$ 2,512.64           Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares         Buy         5-Feb         72         19.64         R\$ 1,414.08           Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares         Buy         5-Feb         140         19.65         R\$ 2,751.00           Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	Non-Voting Shares		5-Feb			R\$ 2,512.64
Non-Voting Shares         Buy         5-Feb         709         19.66         R\$ 13,938.94           Non-Voting Shares         Buy         5-Feb         331         19.67         R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
·	•		5-Feb	331	19.67	
	Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.91	R\$ 20,208.65
Non-Voting Shares	Buy	5-Feb	1	19.49	R\$ 19.49
Non-Voting Shares	Buy	5-Feb	364	19.53	R\$ 7,108.92
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares		5-Feb	471	19.73	R\$ 9,297.54
<u> </u>	Buy	5-Feb			
Non-Voting Shares	Buy	5-Feb	200 261	19.75	R\$ 3,950.00
Non-Voting Shares	Buy			19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20

Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,016	19.91	R\$ 20,228.56
Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	21	19.70	R\$ 413.70
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	730	19.88	R\$ 14,512.40
Non-Voting Shares	Buy	5-Feb	1,158	19.89	R\$ 23,032.62
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,208.65
. ton toning onares	Buy	3 1 60	1,010	. 5.5 1	. ιψ 20,200.00

Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,512.40
Non-Voting Shares	Buy	5-Feb	1,158	19.89	R\$ 23,032.62
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.91	R\$ 20,208.65
Non-Voting Shares	Buy	5-Feb	366	19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Tion voing onales	Биу	3-1 <del>C</del> D	12	13.04	τιψ 1,414.00

Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	1,150	19.89	R\$ 22,873.50
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,017	19.91	R\$ 20,248.47
Non-Voting Shares	Buy	5-Feb	366	19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	649	19.56	R\$ 12,694.44
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	-	5-Feb	72	19.64	R\$ 1,414.08
	Buy	5-Feb	141	19.65	
Non-Voting Shares	Buy		708	19.66	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb			R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67 19.68	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130		R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36

Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,017	19.91	R\$ 20,248.47
Non-Voting Shares	Buy	5-Feb	1	19.43	R\$ 19.43
Non-Voting Shares	Buy	5-Feb	773	19.55	R\$ 15,112.15
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	-	5-Feb	318	19.77	R\$ 6,286.86
	Buy	5-Feb	393	19.77	
Non-Voting Shares	Buy		80		R\$ 7,773.54 R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.79	
Non-Voting Shares	Buy	5-Feb	2	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	/13	19.89	R\$ 14,181.57

	_				
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 15,131.70
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,552.16
Non-Voting Shares	Buy	5-Feb		19.89	R\$ 14,241.24
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	71	19.64	R\$ 1,394.44
•	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb 5-Feb	709	19.66	
Non-Voting Shares	Buy		331	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb			R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	716	19.89	R\$ 14,241.24
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	41	19.60	R\$ 803.60
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
_	•	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb 5-Feb	141	19.65	
Non-Voting Shares	Buy				R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82

	_				
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	711	19.89	R\$ 14,141.79
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	•	5-Feb	22	19.70	R\$ 433.40
•	Buy				
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	711	19.89	R\$ 14,141.79
Non-Voting Shares	Buy	5-Feb	369	19.58	R\$ 7,225.02
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	•	5-Feb	72	19.64	R\$ 1,414.08
_	Buy	5-Feb	140	19.65	
Non-Voting Shares	Buy				R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	194	19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	126	19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	2	19.81	R\$ 39.62
•	Buy	5-Feb	53	19.82	
Non-Voting Shares	Buy				R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77

Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	50	19.64	R\$ 982.00
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	332	19.67	R\$ 6,530.44
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 7,832.88
_				19.76	
Non-Voting Shares	Buy	5-Feb	79		R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	332	19.80	R\$ 6,573.60
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	126	19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24

Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	348	19.59	R\$ 6,817.32
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares		5-Feb	72	19.64	R\$ 1,414.08
<u> </u>	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	
Non-Voting Shares	Buy				R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	393	19.80	R\$ 7,781.40
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	295	19.86	R\$ 5,858.70
Non-Voting Shares	Buy	5-Feb	5	19.56	R\$ 97.80
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
	= 3.7	2 . 30		2.20	

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	793	19.87	R\$ 15,756.91
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	794	19.87	R\$ 15,776.78

Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	136	19.61	R\$ 2,666.96
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	187	19.57	R\$ 3,659.59
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	-	5-Feb	317	19.77	R\$ 6,267.09
<u> </u>	Buy		394	19.77	
Non-Voting Shares	Buy	5-Feb 5-Feb	80	19.76	R\$ 7,793.32
Non-Voting Shares	Buy				R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392 1	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	<del>-</del>	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28

Non-Voting Shares	Buy	5-Feb		19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	492	19.87	R\$ 9,776.04
Non-Voting Shares	Buy	5-Feb	135	19.61	R\$ 2,647.35
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	196	19.84	R\$ 3,888.64
Non-Voting Shares	Buy	5-Feb	130	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	347	19.59	R\$ 6,797.73
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares		5-Feb	331	19.67	R\$ 6,510.77
•	Buy	5-Feb	130	19.68	· ·
Non-Voting Shares Non-Voting Shares	Buy		341		R\$ 2,558.40
•	Buy	5-Feb	22	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb 5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy		229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20

N	Б.	5.5.1	000	40.00	D# 7 704 00
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	10	19.57	R\$ 195.70
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	342	19.69	R\$ 6,733.98
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	469	19.74	R\$ 9,258.06
_	Buy	5-Feb	203	19.74	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	262	19.75	
Non-Voting Shares	Buy	5-Feb	318	19.70	R\$ 5,177.12
Non-Voting Shares	Buy				R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb		19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	310	19.87	R\$ 6,159.70
Non-Voting Shares	Buy	5-Feb	101	19.65	R\$ 1,984.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,267.09
9	- ,				. ,

Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	103	19.65	R\$ 2,023.95
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	24	19.70	R\$ 472.80
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	345	19.59	R\$ 6,758.55
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	-	5-Feb	141	19.65	R\$ 2,770.65
•	Buy	5-Feb	709	19.66	
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 13,938.94 R\$ 6,510.77
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29

Non-Voting Shares	Buy	5-Feb		19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	795	19.87	R\$ 15,796.65
Non-Voting Shares	Buy	5-Feb	100	19.65	R\$ 1,965.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.70	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.73	R\$ 9,317.28
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	200	19.74	R\$ 3,950.00
<u> </u>	Buy	5-Feb	261	19.75	R\$ 5,157.36
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	316	19.77 19.78	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395		R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	44	19.64	R\$ 864.16
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	325	19.80	R\$ 6,435.00
Non-Voting Shares	Buy	5-Feb	349	19.59	R\$ 6,836.91
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 5,878.56
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	290	19.55	R\$ 19.55
•	Buy		-	19.55	
Non-Voting Shares	Buy	5-Feb	346		R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40

Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	345	19.59	R\$ 6,758.55
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	142	19.65	R\$ 2,790.30
	Buy	5-Feb	708	19.66	
Non-Voting Shares	Buy				R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	188	19.57	R\$ 3,679.16
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,138.15
3 2	= -7	2 : 3.2			+ -,